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The normality or the equivalent concentration
Numb l lut
Molarity (mole/L) = umber of mo eO_f solute moley  no.mole (mole)
Volume of solution (L) L v(L)
Normality (ﬂ) _ Number of equivale?t of solute N (ﬂ) _ no.eq (eq)
L Volume of solution (L) L v(L)
mass (g) m(g)
no. eq(eq) = ‘*—ﬁ ) - )
Equivalenta weight (<L) no. eq(eq) EwL)
eq eq
mass (g) mass
no. mole(mole) = - g —> no. mole(mole) = —(gg)
Formule weight (mo le) F.wt (mo le)
hat' ivalent ?
What's an equivalent -
An equivalent of a substance is the mass (grams) of that substance that will combine with one
mole of another reactant.
)
f\ v“ (j\/{o Formule weight (<L)
LW - ): r - EW (i> - mol
4 e eq number of reacting units (ﬂ)
q (ﬁl) mol
« The normality of a solution is the gram equivalent weight of a solute per liter of solution.
* It may also be called the equivalent concentration. \/
» <ltisindicated using the symbol N, eq/L, or meg/L . _awore ZK = /‘/(q%) ' ( L)
Number of equivalents (eq) = m";—i"()l) = normality (eq/L) x volume (L)
wt (&
Number of milliequivalents (meq) = % = normality (meq/L) x volume (L)
: meq
Acid , base H. = OH-
Oxidation—reduction electron



https://www.thoughtco.com/definition-of-solute-and-examples-605922
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l Number of reactant |
Neutralization PreC|p|tat|on Oxidation-Reduction Complexation
reactions reactions reactions reactions

* Neutralization reactions ot oQ o< &U\V\\C M”()
/
0+ No)_ e NCL+ O > 0" AR
Therefore, 1 mol of NaOH = 1 equivalent of NaOH. N
Therefore, 1 mol of HCI = 1 equivalent of HCI

What is the n of:

A. 1MHCl = n= 1H+
B | | 1MCH.COOH =  1He
c. || 03MHPO, = 3He
D. 1M NaOH = h=1 OH-

« Precipitation reactions

AGNO + NaCl NaNO3

Na,80, + BaCl, ——»(BaS0,¥ 2NaCl

oA (fw,\tuw) T 3. (?..,;l
f\&;b\ ‘;5‘)&"\!: W (e) - S (\) =y w
h— *-"r“*"

BaS0N —= W= L —yEM = —

* Oxidation-Reduction reactions
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* Complexation reactions
Zn** +(49CN*- Zn(CN),»
H = :cA —> oA ey o f poiv o N X V\cck_ N o
~ = Y C oV w ComQleXe
Ag* +(INH; = [Ag(NH;),]" 0 A
‘ | y Ve
N = 23 B B
Lﬂ- 1{M\ﬂ”\ N w
Al3+ +@:_ = [A|F5]3_ _) E"’:" B Q‘J\(
N 7 3 §
= G = e = IF KP‘\ \ L) ~ .




Calculate the Normality of 2.35 g/250 ml solution of KMnO, (F.wt=158.04 g/mol) if
Mn™ is reduced to Mn2t?
Solution:
eq\ _ Fwt[T I) S,
Ew (g) n(ﬁ) @j\t"‘? M\'\
1a
158 -
b () -2 pwosed) | ml = Ma
g €4 eq -
moi
N (ﬂ) _ m(g) _ 1000ml/L c= X5
L eq.wt(f—q) v (ml) veduce !\
N (ﬂ) _ 235(g) _1000ml/L Nz 5 b ol vadak
L/ 316" 250
) (mD) C L\»\t\\rcj r;.)
eq eq
N (—) = 0.2974 (—
L ( L )
Calculate the Normality of 0.53 g/100 ml solution of . . L ;
Na,COy(F.wit=106 g/mol) as the following reaction? What is normality of 2 M of H,PO,?
+
Na,CO; + 2H'—pH,CO4 + 2 Na' HsPO, M
Solution: Solution:
g Fwt (mo{}
Ew (g) ) Ew (%) _ F.wit eril) n= 3 (H+)
g n (—o)
e 106 ( )
Ew (ﬁ) = 73“‘”: Ew —53 (L
g 2 (ot ' Ceq’ N=n X M
eq no.eq (eq)
N(—) = — eq mol
L v(L) N:3(—)><2—
mol ( L )
m(g)
eq eq.wit (é%) ’ eq
N(T) = v(L) N= 6 (T)
eq mig) 1I]I]I] ml/L
N ( ) - eqwt( } v (ml)
(eq) 0.53(g) 1000 mi/L
- 53(‘?—) 100 (ml)
eq _ ﬁ
N (T) = 0.1 (L )




